9.

. What type of tail did the Apatosaurus have?

. What did the Apatosaurus primarily eat?

. Where did the Apatosaurus live?

APATOSAURUS
QUESTION SHEET

How long could the Apatosaurus grow?

. What was the Apatosaurus’s primary defense mechanism?

How much food did the Apatosaurus need each day?

. What other dinosaur is the Apatosaurus closely related to?

What does the name "Apatosaurus" mean?

10. What kind of climate did the Apatosaurus live in?

Answers
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APATOSAURUS
ANSWER SHEET

1. Answer: Its long neck, which could stretch over 30 feet.
2. Answer: A whip-like tail.
3. Answer: Up to 23 meters long.

4. Answer: It was an herbivore that ate vegetation, including leaves
and ferns.

5. Answer: It lived in North America, particularly in areas now
known as Colorado, Utah, and Wyoming.

6. Answer: It likely used its long, whip-like tail to defend itself
against predators.

7. Answer: The Apatosaurus ate up to 880 pounds of vegetation
daily.

8. Answer: The Brontosaurus.

9. Answer: "Deceptive lizard," due to the initial confusion about its
species.

10. Answer: The Apatosaurus lived in a warm and humid climate
during the Jurassic period, similar to a rainforest.
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